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MOCK TEST#03 (a)

CREATIVE ABILITY SECTION

Duration 45 minutes Mm: 50 marks

Q1. lllustrate in colour any ONE object of your choice using any ONE of the given materials.
(a) Glass (b) Metal (c) Fabric (d) Wood
(25 marks)
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Q2. Sketch in black & white only, an adult human figure in a funny composition with the object
illustrated by you in the Question no. above, giving as much details as possible. (You may play with
the relative proportions of the human and the object).

(25 marks)
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\ lacademy for fashion careers
MOCK TEST #03(a)

GENERAL ABILITY SECTION

Duration 45 minutes Mm: 50 marks
INSTRUCTIONS: ALL questions carry equal marks (@+1). There is negative marking @-0.25 for each
wrong answer.

You MUST write the serial numbers 1 to 50 in a tabulated form and then mark the answers of respective
qguestions. Leave the un-attempted ones blank. Do not write the answers, only write the options.

Do not write answers in random order, follow the sequence.

Q1. What is the name of the detective character in the book “The Cuckoo’s Calling“?

(a) Sherlok Holmes (b) Cormoran Strike (c) Hercule Poirot
(d) Byomkesh Bakshi (e) none of these

Q2. Who among the following have not been awarded the Nobel Prize?

(a) Kailash Satyarthi (b) Amartya Sen (c) Mother Teresa
(d) Mahatma Gandhi (e) none of these

Q3. “The Birth of Venus” is a painting by —
(a) Vermeer (b) Botticelli (c) Michelangelo (d) Leonardo Da Vinci (e) none of these

Q4. Which of the following brands is not endorsed by Hritik Roshan?
(@) Thumbs up  (b) Mountain Dew (c) Macroman (d) Acer (e) none of these

Q5. Which of the following is an Achromatic Colour?
(a) Grey (b) Olive (c) Teal (d) Fuschia (e) none of these

Q6. Which of the following is the only film director by Rabindra Nath Tagore?
(a) Natir Puja (b) Kabuliwala (c) Char Adyay (d) Chokher Bali (e) none of these

Q7. “Chanderi “ fabric comes from which of the following state?
(a) Maharashtra (b) Bihar (c) Rajasthan (d) Madhya Pradesh (e) none of these

Q8. A, B and C are partners. They have invested Rs.35000, Rs. 25000 and 10,000 respectively for the same
period. If the total profit is Rs. 18000, find the share of A.
(a) Rs. 9000 (b) Rs. 9500 (c) Rs. 8000 (d) Rs. 8500 (e) none of these

Q9. A's and B's shares in a business are in the ratio of 5:3. If A has invested Rs. 70000 for 12 months, for what
period B has invested Rs. 600007
(a) 7 months (b) 7.4 months (c) 8 months (d) 8.4 months (e) none of these

Q10. Arrice dealer bought 60 kg of rice worth Rs. 30 per kg and 40 kg of rice worth Rs. 35 per kg. He mixes the
two and sells the mixture at Rs. 40 per kg. What is the percentage profit in this deal?

(a) 18% (b) 21% (c) 23% (d) 25% (e) none of these

Q11. 1/2 and 1/4 parts of two bottles are filled with milk. The bottles are then filled completely with water and the

content of bottles is poured into a container. Find the ratio of the milk and water in the container?
(a) 3/5 (b) 3/4 (c) 3/6 (d) 4/6 (e) none of these

Q12. The speed of a boat in still water is 5km/hr. If the speed of the boat against the stream is 3 km/hr, what is

the speed of the stream?
(a) 1.5 km/hr (b) 2 km/hr (c) 2.5 km/hr (d) 1 km/hr (e) none of these
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Q13. A man rows downstream at 20 km/hr and rows upstream at 15 km/hr. At what speed he can row in still

water?

(@) 17.5 km/hr  (b) 18 km/hr (c) 20.5 km/hr - (d) 22 km/hr (e) none of these

Q14. A man swims 12 km downstream and 10 km upstream. If he takes 2 hours each time, what is the speed of
the stream?
(a) 1 km/hr (b) 0.5 km/hr (c) 1.5 km/hr (d) 0.7 km/hr (e) none of these

Q15. Worker A completes a task in 8 days, and worker B completes the same task in 10 days. If both A and B
work together, in how many days they will complete the task?
(a) 40/7 days (b) 40/9 days (c) 41/7 days (d) 49/9 days (e) none of these

Q16. Vikas and Mohan working together can complete a work in 6 days. If Vikas alone completes the same work
in 10 days, in how many days Mohan alone can complete the same work?

(a) 13 days (b) 14 days (c) 15 days (d) 16 days (e) none of these

Q17. A cando awork in 10 days and B can do the same work in 15 days. If they start working together but stop
working after four days, find the fraction of the work that is left.

(a) 1/3 (b) Ya (c) 217 (d) 7/9 (e) none of these

Directions (Questions 18-22): Study the passages below to answer the questions that follow each
passage.

Most people who bother with the matter at all would admit that the English language is in a bad way, but it is
generally assumed that we cannot by conscious action do anything about it. Our civilization is decadent and our
language-so the argument runs-must inevitably share in the general collapse. It follows that any struggle against
the abuse of language is a sentimental archaism, like preferring candles to electric light or hansom cabs to
aeroplanes. Underneath this lies the half-conscious belief that language is natural growth and not an instrument
which we shape for our own purposes.

Now it is clear that the decline of a language must ultimately have political and economic causes it is not due
simply to the bad influence of this or that individual writer. But an effect can become a cause, reinforcing the
original cause and producing the same effect in an intensified form, and so on indefinitely. A man may take to
drink because he feels himself to be a failure, and then fail all the more completely because he drinks. It is rather
the same thing that is happening to the English language. It becomes ugly and inaccurate because our thoughts
are foolish, but the slovenliness of our language makes it easier for us to have foolish thoughts. The point is that
the process is reversible. Modern English, especially written English, is full of bad habits which spread by
imitation and which can be avoided if one is willing to take the necessary trouble. If one gets rid of these habits,
one can think more clearly, and to think clearly is a necessary first step towards political regeneration: so that the
fight against bad English is not frivolous and is not the exclusive concern of professional writers.

Q18. Many people believe that nothing can be done about the English language because —

(a) Bad habits spread by imitation (b) We live in a decadent civilization (c) There are too may
bad writers (d) People are too lazy to change their bad habits (e) none of these
Q19. The author believes that —

(a) It's now too late to do anything about the problem (b) Language is a natural growth and cannot be
shaped for our won purpose (c) The decline in the language can be stopped
(d) The process of an increasingly bad language cannot be stopped (e) none of these
Q20. What causes bad language in the end?

(a) The bad influence of individual writers (b) The imitation of bad language habits (c) Political
and economic causes. (d) An assumption that nothing can be done about  (e) none of these
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Q21. Meaning of slovenliness

(a) Careless (b) careful (c) orderly (d) chaotic (e) none of these

Q22. Give the antonym of frivolous

(a) Appropriate  (b) silly (c) inappropriate  (d) clever (e) none of these

SYNONYMS

Q23. Daffy

(a) silly (b) creative (c) intelligent (d) shrewd (e) none of these
Q24. Eerie

(a) exciting (b) timid (c) strange (d) enchant (e) none of these
ANTONYMS

Q25. Diabolic

(a) devilish (b) fiendish (c) derision (d) poisonous (e) none of these
Q26. Agree

(a) protest (b) accomplice (c) certify (d) condone (e) none of these
IDIOMS

Q27. Cry wolf

(a) animal’s mourn (b) to alert someone (c) give a false alarm (d) wail (e) none of these
Q28. Cut a Gordian knot

(a) solve a difficult situation (b) make a mess (c) to create misunderstanding (d) none of these

Directions : In each of these questions, out of the given group of words, choose the correctly spelt word.
Q29. (a) cabinets. (b) bassons. (c) sprinckle. (d) esposes (e) none of these
Q30. (a) paginat. (b) carosel (c) escalate. (d) skewwered. (e) none of these

Spot THE ERROR
Q31 (a) AnlIndian ship  (b) laden with merchandise (3) got drowned in the Pacific Ocean. (d) No error.

Q32. (a) The Indian radio (b) which was previously controlled by the British rulers (c) is free now from
the narrow vested interests. (d) No error.

Q33. (a) If I had known (b) this yesterday (c) I will have helped him. (d) No error.
Q34. (a) One of the member (b) expressed doubt (c) that the minister was  (d) an atheist.
Q35.(a) Does theroses (b)in your garden smell sweeter than (c) those in ours (d) no error
ARTICLE

Q36. ... wisdom is admired everywhere

(@a (b) an (c) the (d) no article

Q37. The children are making ............. noise

(@a (b) an (c) the (d) noarticle

PREPOSITIONS

Q38. All my friends agreed ........... me.

(a) at (b) with (c)to (d) on (e) none of these
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Q39. My watch is superior ............. yours.
(a) from (b) to (c) than (d) for (e) none of these

Change the active voice into passive voice and passive into active voice.

Q40. Who called you?

(a) By whom had you been called? (b) Who were you called? (c) By whom were you called?
(d) None of these

Q41. Why is the plan being made by you?
(a) Why are you making a plan? (b) Why do you make a plan? (c) Why are plans made?
(d) None of these.

Q42. | love my sister
(a) My sister was loved by me. (b) My sister is being loved. (c) I loved my sister
(d) None of these

Q43. Statement: The pen is mightier than the sword.
Assumptions: () The pen is made of stronger metal than the sword.
(1) The power of the mind is much stronger than the brute physical.
(a) Only I is implicit (b) Only Il is implicit (c) Either | or Il is implicit
(d) Neither I nor Il are implicit (e) Both | & Il are implicit
Q44. Statement: Most of the people have begun to ride on cycles discarding scooters.
Assumptions: () There is no possibility of accident by cycle.
(1) Petrol has become much dearer.
(a) Only Il is implicit (b) Only I is implicit (c) Either | or Il is implicit
(d) Neither I nor Il are implicit (e) Both | & Il are implicit

Q45. There is a light & sound show at every 55minutes at the auditorium. The attendant at the ticket counter told
the visitor that a show has just begun 20 minutes ago and the next show will be at 5: 30. At what time did the
attendant speak to the visitor?

(a) 5: 10 (b) 4: 35 (c) 4: 55 (d) 4: 30 (e) None of these

Q46. NIFT exam was held on a Sunday immediately after 18" of February. If the month started on a Friday, then
on which date was the exam held?

(a) 250 (b) 22nd (c) 24t (d) 23 (e) None of these
Q47. Statement: No play is movie. No movie is joke. Some jokes are pictures.
Conclusions: (I) Some pictures are not movie.
(I Some movies are not picture.
(a) Only | follows (b) Only Il follows (c) Either | or 1l follows
(d) Neither I nor Il follows (e) Both | &Il follow

Q48. Vishnu, an advocate, fought his 1% case in court on 7" March 1996, which day of the week was it?

(a) Friday (b) Thursday (c) Wednesday (d) Tuesday (e) None of these
Q49. Statement: All papers are ribbons. No paper is a watch. Some ribbons are dishes.
Conclusions: () Some papers are dishes. (1) Some ribbons are watches
(1) Some watches are not ribbons. (V) No watch is a dish..
(a) Either | or Il follows (b) Either Il or 1l follows (c) Only Il follows
(d) Either | or Il and 111 follow (e) None of these

Q50. At what time, will both the hands of a clock coincide between 6 & 7 O’clock?
(a) 6:34(%11) (b) 6:32(8/11) (c) 6:33("/12) (d) 6:31(%11) (e) None of these
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